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Instructions :
1)) There are in all nine questions in
this question paper.
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; Al questions arc compulsory.
1l i 1']. b e ﬂ.i.ﬂ.’ ﬂ[ Cach
ny) In the Degln g
question, the number of parts
to be attempted arc clearly
mentioned. |
iv)  Marks allotted to the questions
are indicated agamst them.
v) Start solving from the first
uestion and proceed to solve till

the last onc.

vij Do not waste your time over a )

question you cannot solve.
faefafae @t @vel & & Hio
) wuH et & £ R R, f{x)=x"
g uvafed &, WE IW W F9EH

) [ UES STESEH §

i) f 9%-UF JDRE €

ili) f Ghent & T ITeBIGH @ €
iv) f T @ THEH g R A @

DBRF 2 | 1

@ tan ' (V3)-cot ! (-VB)FI T
) = ii) _%

iii) 0 iv) 243. 1

T PR W y=x+1 TF y2 =4xH
TE e ?
i) (1,2) i) (2,1)

i) (1,-2) iv) (-1,2). 1

http://www.upboardonline.com

wioo-durjuopaeoqdn mmasydny



woo-sutjuopiroqdn mma dyy

e

Z

)

http://www.upboardonline.com

3 324(XB)

" "

afe A 3T B UH & gEAm § TE
P(A)+ P(B)~- P(A 3T B)=P(A),
Fid

) P(B/A) =1

i) P(A/B)=1

i) P(B/A)=0

iv)] P(A/B)=0. 1

HetaiEd O 9 9EeRe Icoszxdx

F TE 0H ¢
. X 1 .
=4 — +
1) 5 451n2x C
1) 2cosx5inx+%+c
X sin2x
= - +cC
1) 3 >
iv) cos2x+c. 1

l Attempt all the parts :

a)

Suppose that a function f: IR - IR
defined by f(x)= x*, select correct
option :

i}  fis one-one onto

it)  fis many-one onto

iii) fis one-one but not onto

iv)  fis neither one-one nor onto.
1
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c)

d)
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Vvalue of tan | {ﬁ]—t‘t)l' - ﬁ] 15

]:| T 11!

2
) 0 iv) 2\5 B
y=x+1 is a tangent line at which

point on the curve y?=4x7?
Doo(1,2) i) (2,1)

i) (1,-2) iv) (-1,2). 1
If A and B be two events such that
P(A)+ P(B)- P(A and B) = P(A)
then

i) P(B/A)=1

iij P(A/B)=1

iiiy P(B/A)=0

iv) P(A/B)=0. 1
Correct value of the integration]
Ic052 xdx in the following is

. x,1_.
= 4+ =
1) 5 451n2x+c

11) 2cosxsinx+—¥§+c

X _sin2x
4 2

cot{tan™!(a) + cot™}(q)] o 5

it | 1
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Attempt all the parts :

a)

b)
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: “ x?
Al 4N AU fb, theetd [(x)= —2— , x =10
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Y1 Hdd & | 1
* M M T
M oa =i+ 3 -5k a4
* AA A .
b=5i-;-3k &, @ .
_’

(a+ b).(a- b) T FAT) 1

afg X+Y=[g g]aen

x-v:[g _E;] §, @ xam y®

O T HIfAT | 1

2
e wiwm Y-t )
dx 1+y

FIAT | 1

R
et [

&)

q)

Find the value of
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cot| Lan'l[a)+ cot'l{a}}. 1 )

2
Check that the function f(x) =2~

2
I1s continuous at x = 0. 1 )

- 4 A A
fa=i+3j-5k and
- AA A
b=5i-j-3k, then find
. .

(;+ E].[a—g). 1
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. 6
- - n hnd the
Yo} 9 i‘,ll]ll

vialues of Xand Y. 1
Solve  the  differential  equation
dy 1+ x° 1

I.I:"l. 1 } ‘”‘]

Fge WY WFUE] &1 Bel ity

=T X = L‘ms.‘q v, y=a Siﬂa 6 $
0 = :1 W AeE Hm YIuEr I
T | 2
A y =sin”! x, 1 fag Few o

~ d?
t] — '1,.'_1} y — dy

a2 Ydx 2]
2 1
HTEZ 3 1 0 1 |
“ [—1 21}([*1 2 1] 1
SiIA FiftAy | 2
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Attempt all the parts

Y

d)

Find the slope of the normal of the

curve x =acos 0, y=a sin” @ at
L -
g 2
If y=sin"!x, then prove that
2
(1-xHSY - Y 2
dx~ dx
Find the wvalue of the matrx
2 1
1 0 1
3 2 x[ } 2
171 -1 2 1
A binary operation * 1s defined on
a sct R as a*b=a+bVa,bER.

Show that this binary operation is
commutative but not associative. 2

) A% y=xOSF g, @ ‘;—imaﬂﬁm

g)

2
fagail (2, -5, 1) a9 (1,4, -6 )
frem arell W@ W 39 fag &1 FRwis
Ad ST A 3§ @ A 2 0 3 FH
Fad H : fafsra & € 2
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[r{A) I't1) ‘)
4 i +J“ ,.r I'I “r‘l ,r-;”-
]r'1_.‘||.,;,'l ‘J i
j33eqdd v/
¥ ]‘ ,
0 e g X 4 Larn Tyt HE VA T
gl ol fug AT x4 1y 2= Y 4
q. Attempt all the parts
. find dy )
a) Iy = x o then nine dx
b) Find the coordinate of that pow

d)

which internally intersccts the lite

joining the points (2, -5, 1) a:;r_j

(1.4, -6)inthe ratio 2 : 3. y
]

If P(A) =, PID)

,j and
s

PLA w3 “j care the events, A and
« B

Iz independent 2 2
If tan ' x 4 tan ' Y+ tan'z =1,
then prove that x+y+z = xyz. 2

g 0 @ fa4 g TqUg &

i

+)

yZ(cusx]“'r” +x* W x * '{8‘&!‘7
HIEHA shifo | 5

i
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2 -2 -4
) AR A={-1 3 4 | @1 Uk
1 =2 -3

F ITEA % 9 8 [@E0 | 5

T i) tan”'(2x)+ tan” 'Bx}—%
A w0 | 2

i) TE fx)=x>-4x-3,Vxe(l,4],
A meAn weag g sy 3

9) gl Waddl y? = 4ax T x? =4ay ¥
ot &7 &1 g9%d 719 HiA0 | 5

Z) 3fe < ITH UF AY Gk A @ &, of HH
4 5 TF 6 JAH & Wigwhdr 7@
ﬁﬁﬂl 5

9). e srEidl & TG Z =8x+ Ty W
fushad WA 1A Hifog -

x<20, y<40, x+y <45,
3x+y<66, x20, y20. S
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324(XB) §
fohe HOLIOWTNY
T 1y =(COS X ]'\;l':" Y x
BRI _
EER T P
\ X
4 | in the form of
-3
S commetric matrix and a
skew-svimmetric matrix.
] 1) Solve

[2x)+ tan

-1 _ )
[3_)(]_.4. R

If flx)=x" —4x-3,¥xe|[l,8]

ther  establish mean | value
theorem. 3
) Find the area of the rcgion

bounded by  two par:1bolas

y? =4ax and x? = 4ay. 5
¢) If two dice are thrown topethef,
then find the probability of gctting

at least one 6. y
f) Find  the maximum value of

Z=3x+7y under the folowiné

constrainty -

XS20, y<a0 . x+ys<45,

fi.n:iryiﬂ‘d,\:jl],yzo. °
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it 0 o8 taan
it AU

)  lqagnge ot

(y+z) Xy zx
xy (x+z)  yz
xz yz  (x+y)

=2xyz(x+y+z)>.

wn

@) fagai —2i+6)-6k,
~31+10]-9k 3R -5i-6]-6k
q TR A It A S GHISO 7749
I | 5

M) UH U H 6 IR IBEN AT €I IR
“q@ W W9 WEN WE EE Uw
FHT & al (i) AT 5 FhEA AdT
(ii) 3TuFAN 5 WhOIATE H ST
A ST 5

J‘ sec? 2x
(cot x — tan x)

q) dx <1 AF ATd

2

HifT | 5
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i cosa ) g1t ﬁ *rTfT" T
$) imA : siny 1.'“.'%”‘ '
" [ cosnt sinn -
FI A= |- sinn H cosnB

ne '
) e WHHTT
(tan”'y - x)dy = (1 + y*)dx ® &

FTd T |

6. Attempt any five parts of the following :

a) Show that the determinant

Y+ 2z i"’ Xy ZX
w o (x+z) yz
\Z yz {x+y ]2

= 2xyz(x +y+z}3.

Find the
]}ithII'lL’,

equation
through the

, M A

i

o

of a plan
pc]Lﬂt

A A A A
~21+6)j-0k, -31+10,-9Kk an

M M

~21-6j-6k.

“1 A die 1s thrown six times. |f
‘geting | ove

die®, | the
probability of gettin

I 4 SUccess Uf
number  on the
find  the

(1) at least 5 successes, (ii) at mof

5 successes.
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Fi} Find the value of
_SeCT2X .
{cotx —tanx|”

n

: [ cos0 sin0 .
= : N prove
¢ A L-— sind cus[l}’ then |
cosnl sinn {1

- | —
that A {— sinn® cosn®

n

where n e
) Find the solution of the
differential equation

[lan_1 y-x)dy=(1+ yz,'ldx . )
fFr=fefaa & @ e g @ve &1 ect sifom -
%) frafataa gt e

S3x-2y+2z=8, 2x+y-z=174

4x -3y +2z = 4 I e A F &

T | 8
g) i) f(x)=3x"+4x>-12x% +12
§U Wed Ged & Ieadq ol
freram o 7 e 5

i) A x¥=e* Y, @ fag Fifm

dy log x

dx 1+ log x)?
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I

v one part of the following :

Ir':;aiu.- the following system of
equations 3x-2y+2z=28,
2xv+y-z=1 and 4x-3y+2z=4
bv matrix method. 8
_ Find maximum and minimum
values of the function

flx)=3x% +4x® -12x* +12. 5
i) If x¥=e*Y, then prove that
dy log x 3
= 3"
dx  (1+logx)
fafefas & @ frdll U@ @IS HI & HIT ¢

g,
a/2 q 84
- ~ e x T
7)) fag=iw | —e—es=2,
7 £ l+Jtanx 4
®) Td@g HiWG
T xdx _ 7';2
o a’cos®x+b’sin? x 2ab
8.  Auempt any one part of the following :
nf2
a)  Prove that _dx _ Ly
£ l1+vtanx 4
b)  Prove that
n
de 1[2
o ClzCOSE x+b25j_n2x B 2ab'
F19582
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"E‘f—— o L e e
-1t- '3-' — # s t!% '3"5 wr, AL =g "I -

(3

— A A ,.ﬁ .f.. Fat
r=(3i+3j-3Kk)+u(2i+3)j+6k)
o '\ A Is M iy sl .
r=(1+2j-4kj+7(21-3j+6k)#
':1’-'.. _:-'-_' 7= 7‘,5_-':' it "J-.”:* T 5
B i) ==
di 3
fy-—ytanx=y‘sccx. 4
1x
- - . - e b
11) SEEC = T HETT g T4 b &
- a -+ ¥ — -
M H<d |a+b|s|lal+|b]
A B 4

J .
Attempt any one part of the following :

a) Find the shortest distance
between the lines

-4 A A A A A )

r=(31+3j-5k)+u(2i+3j+6k)

and

- !‘\ !\_ A A M A

r=(1+2j-4k)+5(2i-3 j+6k).
8
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]il

: . ity 2
) 1] SOVe [ i-‘—- + QLAY = YT seC X,
dx

4
i) Show that for any two vectors

—» — )
a and b it 1s always true

-+ — —» —
that |a+ b |<|a|+]|b]. 4
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